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#include <stdio.h>

int main(void) {
int n;
int 1i;

scanf ("%d", &n);

for (i = 0; i < n; ++i) {

printf ("Hello.\n");
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return O;
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#include <stdio.h>

int gcd(int n, int m) {
// Assume 1 <= n <= m.
while (m % n != 0) {
int p =m % n;
m = n;
n = p;
}

return n;

int main(void) {
int n, m;
int a, b; // (n, m)’s LCM,
scanf ("%d,%d", &n, &m);

b = gcd(n, m);
a=n/b *x m;

printf ("%d, %d\n", a, b);

return O;

GCD.
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int n_solutions(int n, int m) {

int a, b, ¢, d;

int count = 0;

for (a = -m; a <= m; ++a) {

for (b = -m; b <= m; ++b) {
for (¢ = -m; ¢ <= m; ++c) {
for (d = -m; d <= m; ++d) {
if (a * b+ c *d*x 2 + 1 ==mn) {

count ++;

3

return count;

int main(void) {
int n, m;
scanf ("%d", &n);
scanf ("%d", &m);

printf ("%d\n", n_solutions(n, m));

return O;
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#include <stdio.h>

int n_solutions_recursive(int n, int m, int *x,

int counter = 0;

if (depth == 4) {
if (x[0] * x[1] + x[2] * x[3] * 2 + 1 ==
return 1;
} else {

return O;

int depth) {
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for (x[depth] = -m; x[depth] <= m; ++x[depth]) {
counter += n_solutions_recursive(n, m, x, depth + 1);
}

return counter;

int main(void) {
int n, m;
int x[4];
scanf ("%d", &n);
scanf ("%d", &m);

printf ("%d\n", n_solutions_recursive(n, m, x, 0));

return O;
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#include <stdio.h>
#include <stdlib.h>

int descending_int (const void *a, const void *b) {

return *((int *)b) - *((int *)a);

int main(void) {
int n, m;
int *a;
int i;

int sum;

scanf ("%d", &n);

scanf ("%d", &m);

a = malloc(sizeof (int) * n);
for (i = 0; i < n; ++i) A

scanf ("%d", &al[il);

gsort(a, n, sizeof(int), descending_int);
sum = 0;
for (i = 0; i < m; ++i) {
sum += ali];
}
printf ("%d\n", sum);

free(a);

return O;
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Algorithm 1 U % < & 0 LD RN

1: for S=1,2,...,N do

2:  Find Eg + ming(E — S + 1) where ZZE:S A; < P.

3: end for
4: Output ming—; .. .~ Fs — S+ 1.
21411 2
S=1,E=3 21 411 2
S=2,FE=14 21 411 2
S=3E=5 2 1411 2
S=4,E=7 211411 2
S=5 FE=8 2 141 1 2
S = 6 (infeasible) 2 1 4 FHFNR2
S =7 (infeasible) 21 4 1 M2

1 LKLY EDORSEEN (N=8,P=700). £FIBT2EBNEOTAHOHMIEIA—Y T

S = 8 (infeasible)
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#include <stdio.h>
#include <stdlib.h>

int main(void) {

int
int
int
int

int

n, p;

*xa;

ij

start, end;

sum, min_pages;

scanf ("%d %d", &n, &p);

a =

malloc (sizeof (int) * n);

for (i = 0; i < n; ++i) {
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Algorithm 2 L < & Dk

1: Set E' + 1 (variable, end page number plus one).

2: Set @ « 0 (variable, sum of the items in the pages [S, E)).

3: Set M <« arbitrary value larger than N (variable, min. pages).
4: for S=1,2,...,N do

5:  while £/ < N and Q < P do

6: Q<+ Q+ Ag
7 E' +— FE +1
8: end while

9: if Q < P then
10: break

11:  end if

122 M« min(M,E' - 5)

13: Q<+ Q— Ag

14: end for

15: if M < N then

16:  Output M.

17: else

18:  Output —1 (no satisfactory solutions).

19: end if

scanf ("%d", &alil);

start = 0;

end = 0;
sum = O;
min_pages = n + 1;

while (1) {

while (end < n && sum < p) {
sum += alend];
end ++;

}

if (sum < p) {
break;

}

if (end - start < min_pages) {

min_pages = end - start;
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sum -= al[start];

start++;

if (min_pages == n + 1) {
// No solution
printf ("%d\n", -1);

} else {
printf ("%d\n", min_pages) ;

free(a);

return O;
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#include <stdio.h>
#include <stdlib.h>

int main(void) {
int n, p;
int *psum;
int 1i;

int start, end, min_pages;

scanf ("%d, %d", &n, &p);

psum = malloc(sizeof (int) * (n + 1));
psum [0] = O;
for (i = 0; i < mn; ++i) {

int a;

scanf ("%d", &a);

psumn[i + 1] = psum[i] + a;

if (psum[n] < p) {
// No solution.
printf ("-1\n");

return O0;
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min_pages = n;
for (start = 0; start < n; ++start) {
for (end = start + 1; end <= n; ++end) {
if (psum[end] - psum[start] >= p && end - start < min_pages) {
min_pages = end - start;
}
}
¥
printf ("%d\n", min_pages);
free (psum) ;
return O;
}
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